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Fs i Bify
1 X ESE 90
2 T E 90
3 Kt 110
4 2K 140
5 FEEINE 340
6 ERINE 180
7 ERELD 120
8 G AT 80
9 K AT 110
10 ERKE (FEK) 115
11 EaKE (EF) 110
12 EAAEHE 70
13 EHHE (BREE) 220
14 R=ME (hER+ENGEPH) 740
15 8 110
16 Eika 30
17 kA 65
18 KIE (Fh/R) 20
19 ke (REAR) 30

Fs LR B
1 SR E SR 90
2 BFEE 100
3 Kz 110
4 BEFER 175
5 mEINE 340
6 ERINE 180
7 EREID 120
8 K5 HT 80
9 K AT 110
10 ERIKE (F) 115
11 EHKE (EF) 110
12 B FEYE 70
13 EHHE (BWAE) 220
14 |BHER=HE (PERHENGEDR) 740
15 8 110
16 DLk 30
17 KA 100
18 KR (f5/R) 20
19 KiE (REER) 30




